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2A:

S Mol CHEMA =
el THLHRIR| OFR23 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,538
=S 461
s 1,077
MHeHUS e =d 5,168 5,790 N62
= 2,584
= 1,034
o 1,550
201 et 3| 5,168 5,790 N622
= 2,584
= 1,034
Ea 1,550
01 AtR2t2|HI 5,168 5,790 AB22
o=t S seed 5,168
= 2,584
= 1,034
= 1,550
THoHCHZH =& 170,000 20,000 150,000
= 75,000
o 95,000
201 fer=3| 20,000 20,000
01 AtR2t2|HI 20,000 20,000
OXHeA THOH CH 24 H 20,000
401 AlEHIZL SO 150,000 0 150,000
= 75,000
= 75,000
01 Al&H| 150,000 0 150,000
O =] NSIHAIE EXIAY 150,000
= 75,000
[Ea 75,000
NERESMH 28 40,000 40,000 0
201 fer= 3| 9,000 9,000
01 At 2|l 9,000 9,000
Os=2= M& 4,000
Oglct 52383, g2 5) 74 5,000
301 EtE NS 23,000 23,000
11 dAMEEIXIE S 23,000 23,000
O ns & =¢ 10,000
OB 10,000
OgMe 22 (24E3, W0l S) 3,000
302 OI=H a2 &= 8,000 8,000
02 2t SR ES2a =3 8,000 8,000
Oz=zgs N2 (SeHl, RRU S) 5,000
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SA: orE 2|t
I THLHGH CHEMAH 2=

el THLHRIR| OFR23 (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Os3=7 2= 1 3,000
NSAELMHE doi28 X 9,000 8,000 1,000
= 2,700
o 6,300
307 @20l & 9,000 8,000 1,000
s 2,700
s 6,300
06 28= 9,000 8,000 1,000
OXtsg e doi2d X2 A 9,000
& 2,700
Ea 6,300
SHHTIoH =2l X2 60,000 30,000 30,000
301 EtE N = 60,000 30,000 30,000
4 IIEt2 83 60,000 30,000 30,000
O3stiulah =2 XI& 60,000
NZIOHE Ald= 215 K2 A 23,400 0 23,400
= 15,600
= 2,600
= 5,200
402 2I2F X201 & 23,400 0 23,400
= 15,600
< 2,600
s 5,200
02 QI X2 AL EE (01X THE) 23,400 0 23,400
OXNTHE A= oIS KEAE 23,400
= 15,600
< 2,600
[Ea 5,200
SO df g Ea XA 10,887 12,600 A1,713
= 3,266
= 7,621
201 er=23| 10,887 12,600 A1,713
= 3,266
Ea 7,621
01 AtR2t2|HI 10,887 12,600 A1,713
ORHAEH 4| & K& 10,887
s 3,266
s 7,621
e Qe 245 900,460 516,577 383,883
= 15,426
=S 38,005
s 847,029
EF S Ot E 66,120 66,000 120
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SA erE 2|t
S Mol HEMA =
Rl dE Qg 245t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 25,000 25,000
6 28 25,000 25,000
O=Z 2l HEEE XA 25,000
401 AlZHIZ S 0HbI 41,120 66,000 N\24,880
01 A28l 41,120 66,000 A\24,880
OSAHEQ & ZOHA IS At 31,040
O oteSH 2HED A
840,000& * 120H A 10,080
AN =ERRE 29 60,500 41,708 18,792
301 EtE NS 60,500 41,708 18,792
0 AR=22a= 60,500 41,708 18,792
OJlzs 1,000,000 x4 * 122 48,000
OSAlH| 130,0002 ~4&«12& 6,240
OuEH| 70,0003 4 128 3,360
Ol =H| 400,000 x4 1,600
Ons & 2tgs 40|
200,000 *43] 800
OMcHE43(2E) 500
EA2U X2 17,000 10,000 7,000
307 @I2t01 & 17,000 10,000 7,000
02 QB HANSEER 17,000 10,000 7,000
OgaT ASALH Jt=eiE & =3
i =l 12,000
OLaZ ogagiiiely J1gAl 5,000
sXgs & 13,100 12,100 1,000
201 er2 3| 13,100 12,100 1,000
01 AtR2telHl 13,100 12,100 1,000
Ot Sl 3,000
OsXgis € =tg&8d 82 Sdte
50,0002 40K 2,000
Otlatitled Sl 3,000
OZeHEH 728 & “ESUN 1,000
OAMRES FY 1,000
Odned 2l 700
OosHegAd X 300,000 «8IH A 2,400
OiHIZ2=Sd X2 A 536,271 134,273 401,998
308 XXM SOIH 50,083 73,403 N23,320
10 0HlZsd2gdy2x 50,083 73,403 A23,320
OAtRate] & =& 22l 50,083
401 Al HIY S CHYI 400,000 400,000
01 A28l 400,000 400,000
Otz SESUAIRA cl2ad 400,000
403 AXIEHMSAH=201H 86,188 60,870 25,318
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2A:

S Mol HEMA =
Rl dE Qg 245t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 dblZ2sd X2 2x 86,188 60,870 25,318
OoudlZ2 &bl & #¢ 73,000
OAE R X2 13,188
QALY =Xl 54,340 113,540 A\59,200
201 fer= 3| 54,340 43,540 10,800
® 2= 54,340 43,540 10,800
OHla432AE &Ie3
130,000 x40 =% 123 6.240
OHI&Z=AE BRI
2,000,000 *40H 2= 8,000
L EENERENI-E
325,000 xQ0 a-+ 123 35,100
Oglgtel ZH| L (HXHOLE 8) 5,000
ol 2229 23,000 12,750 10,250
201 el 20,000 12,750 7,250
01 At2telt] 20,000 12,750 7,250
Oulgiel Hlatthtl HRF2 Sl 500
Oulg2(td UsuW = 2,500
Olgus St 50,0002 10 500
Ol AIOIH = (3 X101 &)
8,750 +800 7,000
oug? 237¢ ¢ 2l 3,000
ougzd Sddt= 500
OULLAANOIH T HASK ===
7,500 +800H 6,000
202 04| 3,000 3,000
01 =LHO LI 3,000 3,000
O/ R =X 04l 3,000
o us =« 7,925 4,636 3,289
= 2,8%
< 1,521
[Ea 3,548
201 =3 5,715 2,426 3,289
= 2,193
=S 1,067
s 2,465
01 AtR2te|Hl 5,715 2,426 3,289
OXegAY |4 3,149
= 945
= 661
o 1,543
OAZth E8(Raz s QUASEEY) 683
= 683
ougs gy § us XN& 360

- 518 -




[}
I

oF
0J
i
? —_
= 10
2 30
=
olo
7%
B g
T
m ) __e__:
ol =< 0
x

=
-

T ZH -
[ I
o
el

(@) (@) (@) (@) (e} o (@) (@) (@)
nd
:
=
E=)
= = S S ] S S S S
N S « > = > S S S
s o - - - - - S} S S}
(o]
Lilkd
RIS
TRRYABRRLIESBIZIE22EYESSIHTIBSREI NSRS SRENE8E88 388838 3|8
— — 00 < MO MfANN O OO O MO AN I AN AN O DO O ™M OO0 IO M O OO0 I M ;OO O O Ol O O© Oo|o
— o —_ - - —_ - — — —_ - AOw, m/l_, mV_, mm, m, mV_, mV_, .nm, Aow,
ol
<
S
oW oW o oW oo o oW o oW o oW o oW MW o W
oir
70
23] —
. ujo
o = =
< — OF <
I+ %0 = _ )
= ! D o
. 0l ~ a0 80 0
- = T & p =
= E2] 0 = __oz 1l
o} = o 2 A0 ]l mw K0 -
oF z w O O o o) i 5
ol w ro R K n o o 5 5 — I+
. S id 5 O w0 20 30 n 2 D ok
ar & H a = N * Gl op f K K =] 5
0 0 ) = 0 o 10 gl oF ol i X 2l
: 5 = e | = 5 x 5 5
X & ol & < 30 < <
I+ mr al

- 519 -



[}
I

oF
0J
i
? —_
= 10
)
=
olo
7%
B g
T
m ) __e__:
ol =< 0
x

=

=

T ZH -

[ I
o

el

-

KIO

Hlw

HMEE
Ofl &k2h

7,450

7,450

7,450

30,000

30,000

30,000

2,220

1,620

1,620

600

600

40,000

Ofl &F2H

40,000

12,000
12,000
16,000
7,450
2,229
5,221
7,450
2,229
5,221
7,450
7,450
2,229
5,221

30,000

i

Iy

H

H

H

H

rH

Iy

H

9,000
21,000

30,000

iy

H

9,000
21,000
30,000
30,000

H

H

9,000
21,000

H

rH

2,220

666
1,554
1,620

iy

H

iy

H

1,134
1,620
1,620

H

Mt

1,134

600

180
420
600
600

H m

180
420
40,000

M

H

12,000

- HyS

- SRA(3) - HIRAEY

S - B

Il

K]
ol

H

307 212t01™

no
160
H

10

oder=s

70

o)

01 AtR22telbl

o)

01 AtR2telbl

&

O&JIu=s JIXM Xl

no
<0
iy

s

14 JIEt

- 520 -



- 521 -

G e < & ) & 81888 81818 =) e SA AR
K - o |w|lw — | =
x| N IS |8 2 S
0J
S
E=)
AUy (@) (&) (@) nUyOO
Il
war | | Q & & 8185
uﬂ._m.N\_ © © < | < |~
RIS
wwwmwwmmmmwmwwmawwwwwwwmmmmwmwwmwmmmmmmmmw
S|S S Sl § S S|l - © = © © = SliSlalS Slg|2|e |29 oo © au|v|e © § S 9 & 5
QO Al O Al QO w0l wu ™M IO QM v o 0N O O
SEESISIRSH SIS g glele flgegle g Z|g|glk 888 LR K
Zr o © | o ol ||
<
S
rH M W W W W W rH W
oir
X AH%
Y a0 7
* < m_x%
=
g 3l o Rl 7w _
Ll HiD _ A0 o gy < K
=% Ko 00 Rl = = w0 X =
* ] ar 20 A0 <+ 3 Hr < 30 ol 2
— = = =0 U -, R < < ©
= < Hio o N ur 7 o T
i A 40 o0 Y - ~J o X oW
s iof o 10 =0 M|=_ <k ok ™ — F W T o
Tl ¥ e o 2 =< ur 70 _ S| nEET -
= Or P - — - == — = oK|m 0 wowm < K
= X0 o) i3 D.o 7 ) D= ok | D [D HIr oD _ __-T oDk o e o RO
o il . ak K < 30 0o _ |30 |80 RO 30 |m K o | oK < < 10 W <
olo e 0 e ar <
== | = = - o =< 0 ook e L L vl T T I Sl s & "
R k0 w = 3 o 0 I R T R L b R Klwjm T T BB W
n B2 ot =< me o all A% %%%%%@%A%w_ il %MM%%W@OOD
S| = S S & & = S EIEIE I ks Z1&8|®
[ D I 1o
o= I ol B | R < 13 ar =
3 3 R
X & oF R
Ik RO O




od
i’
oF
uJ

)
= O

&K
™= ol o
0 180 180
) R R
KJ 8r ar

-

oJ K

X

2A:

T ZH -
(==l I

ol .
o

-

nd

Klo
=
=)
3"
m<)
RIS
S 838 8888388838838 88388388888883888388388888888888888-8
O O O O O O O O O O O O O O O O O O O O O O O O O O O O O O O O o o o o o o o o o o
S S S YW Eg e NS s sY eSS rvwosgssSsSsSSSSesLessesswwsgs
3
<
=
ar
0 g m
Al |5 + = o 2 d =
. R o _ 2 m
3 ly_ owz 2z : z = & < u
< |4 3 _Miomo DR Z D £ = = R ENE R
| & o5 R WSS _mTWD_W_SMHI 55D D s s 535
= |2 . 5w %D B o KD % o WD o DR MRBHDOWWDAN ST ST RDOS PR KWEND
O T S A MmN, R WR BT D o KD
N P T T e T T M VI B M R VTR TN TR
= | X R WS RS M~ kU a w U MR WM R T
S EW=c U HNWO G BTN IREARNANSHSSS S 444 rsmMs0 40
= |2 YL o % RORL GO g om op 2 op ™ onp T S o ow ow o o o om o o oy ow op op © G0 B B 0000 I gy Mgy N F 0
.mrﬂ/A\/_‘Um J W OooomvoRlofldlOoOoOooocooooocooolAUAUdURUVUVUVoMWMoRBMU M
0 |[m o R e I =K O0R 00 R WRNT ®R O oo s R MK KDY RRR TS DR ® <
. lroA 1 D W MR MBS S 00T oo WU g O DT R 20N E N B DO KK S MWD W @
& <0 20 v v o o o o O O S0 MO MmO MO W0 MO MmO B0 MO MO MO B0 M0 B0 HO < <F <4 S G F A4 F G EREEREx=x===
RO |50 o0 o0 o0 mo RO RO RO RO RO OO0 < < T D < <D <YLK O OO WD D
M OO0 O0O0O0O0LObLLLOLLOLLLLLOLLLLLLODLLLOLDLLOLDLLLOLDLOLDLLLOLLOLLODOLOLOLOLOOOOO
I+

_522_



A OHE IR
M X AREUH
ool XREUNCD

S A - BRI - NRA - BES of e A
O =&l =2 FHI 20,000
O&A =Hel o2 o2 FHl(Otede) 15,000
O&H =2l =2 & 15,000
O8Al &Alel =2 FH| 20,000
O8 Al &2 =2 FHI 20,000
O8I otEltE 45 S| 15,000
O HEOtS == 3 20,000
OZ& NHIE Negd=sZ 3l 20,000
OZZ ADI0tE =< dY=2 &l 20,000
OzZ &30t =2 &4 20,000
OZ& gellte s=2 | 15,000
OztE dE(Ze=) =2 3 20,000
OZd H20ts == JH 10,000
OZ& 220t= == &dl 8,000
OZ& #elts =2 & == 34| 20,000
O2Zl Y ts A (AR) FH 30,000
OZ& =22 &0)0le =2 FH| 15,000
Ol %ot s2 gl 30,000
OZd 202 == AL 8,000
OSXl ot=0ts &gz dol 20,000
OEXl JI=0ts s=2 &4 20,000
OYXl 220t =2 ZHIAY 20,000
OHX #E0ts ti+== 20,000
OHXl =<0t ti== 34 25,000
OHXl €s0ite Sti==2 4| 20,000
O Xl &Xl0ts AGH(S52d) FHl 20,000
OXIAL SK0tS Eti==2 4| 20,000
OXIAH HE0tS Bi+== 3 20,000
OXIAF HLHOE Sti+=2 3] 20,000
OXIAL 210tE S22 4| 20,000
OFEEY Pl 2t Y SHLX 20,000
OFESH giiel E+2 HIAIE 20,000
OFSH gl == JHIAE 20,000
O=2gH a4l ot A 20,000
Od=H S22l =2 &l 20,000
O2+H 2| =2 F4| 20,000
OdleddH =3l M& Ei 20,000
O&fHH =&l OtAZE I 20,000
O&HH HE otls2s 32Y =AML 20,000
O&AH Ml 85 otA2 2 10,000
O2EY ddel s2EH| 20,000
OXIAIE ZA 2l IHAHEX 20,000
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OXAL =0t s2 0tA2 2F 30,000
Od 2 UMOIE OtAZHAN ] 20,000
O2= a8l 28 ExSAt 15,000
Xl otolitS OrEal&t ZHISAL 50,000
03 A2 20HHI 7,160 3,000 4,160
OXNSSH=RAE =X 7,160
SHAA FU=SFAAL 513,210 513,210
401 AlZHIZ S 0HbI 513,210 513,210
01 Al&H| 510,000 510,000
g SHAL FH FO=FAMY 510,000
03 AIESTHYI 3,210 0 3,210
O SHAA =8 FUSJAAMY =8 3,210
SEXHC =20 XNE 279,906 111,822 168,084
o200 AIE X 279,906 111,822 168,084
AN =5 220U N 251,700 86,000 165,700
201 er2 3| 13,000 11,000 2,000
01 AtR2telHl 13,000 11,000 2,000
O==2U NI E2(2ERH) 8,000
OZ2U ddgd" X 5,000
301 2= 238,700 75,000 163,700
14 JIEt2d = 238,700 75,000 163,700
OzZ&d YaAg &43d XN 238,700
etz 24 28,206 25,822 2,384
101 @124H| 28,206 25,822 2,384
M IIRIMZZENSES 28,206 25,822 2,384
Oct=2d M itEa 21| NS 28,206
HAA ot et e 27,737,000 27,079,200 657,800
= 37,000
[ 2,813,000
= 6,200,300
= 18,686,700
SHETHOH Gl HIA 2= 10,300,000 6,700,000 3,600,000
AGHE HHIAF (HEALY) 10,000,000 6,400,000 3,600,000
401 AlEHIZ S 0HbI 10,000,000 6,400,000 3,600,000
01 AlZH| 9,975,000 6,385,000 3,590,000
A0 ZUIAG (M&) 9,975,000
03 Al =2 THHI 25,000 15,000 10,000
OAGHe ZHIAIS (&) 25,000
20t™ =7 X2 300,000 300,000 0
201 =3 100,000 100,000
01 At2t2lt] 100,000 100,000
O4old=4d 100,000
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401 Al HIZL 2018 200,000 200,000
01 Al&H| 200,000 200,000
OLxotEAIE =Xl2e] 200,000
MeHH =AM A 2= 11,747,000 13,015,000 21,268,000
[ 2,813,000
= 2,870,200
= 6,063,800
St THal Ol =+ 1,400,000 1,100,000 300,000
401 Al HIZ 01| 1,400,000 1,100,000 300,000
01 Al&H| 1,400,000 1,100,000 300,000
OMaiHe S2A 1,000,000
O&MZA THolole ot 2tel 400,000
STlE28 X 301,000 300,000 1,000
201 =3 1,000 0 1,000
01 At22t2l] 1,000 0 1,000
OS+oi2d 222 M& 1,000
307 glztol & 300,000 300,000
06 2= 300,000 300,000
O3=di28 K& 300,000
oS A+ FHIAL 5,626,000 7,549,000 21,923,000
[ 2,813,000
= 1,041,200
= 1,771,800
401 Al HIZL 201 5,626,000 7,549,000 A1,923,000
= 2,813,000
[ 1,041,200
Ea 1,771,800
01 Al&HI 5,611,294 7,526,000 N1,914,706
Ogd Sl 4 S 2,570,712
s 1,290,000
== 516,000
o 764,712
O+ Sl 4 SeIHAL 854,582
s 430,000
s 172,000
s 252,582
OS] MHoHRAZEME X7 HUIAS 1,610,000
= 805,000
=S 322,000
s 483,000
O&Jl MHKAZIMEXI 7 FHIAY 186,000
= 78,000
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< 31,200
s 46,800
OADIEHZ2ACIAIAE AFAL 420,000
= 210,000
Ea 210,000
03 A& THYI 14,706 23,000 A8,294
Og4d S+l ded SeFIAE 9,288
O+ Sl 4 SeFAL 5,418
MHet2e iz At 1,460,000 1,200,000 260,000
= 730,000
o 730,000
401 AIEHIX SO 1,460,000 1,200,000 260,000
= 730,000
o 730,000
01 A28l 1,460,000 1,200,000 260,000
OZE |42l =2 EHIAY 200,000
== 100,000
o 100,000
OXIAL 212l MIE EHIAE 300,000
= 150,000
= 150,000
O&HA M&lel ti==2 HHIAMY 260,000
= 130,000
o 130,000
ouly s FHIAE 300,000
[ 150,000
Ea 150,000
OacHd |Xl2el A (AcHEES) 200,000
= 100,000
o 100,000
OMt HBEAE 2 200,000
=S 100,000
s 100,000
UL B k= PAR R EAVN = 700,000 700,000 0
401 AlEHIZL SO 700,000 700,000
01 Al&HI 700,000 700,000
OMHAS XS o At 700,000
SHETHOH U =P A (2 X) 2,260,000 1,366,000 894,000
= 1,099,000
Ea 1,161,000
401 AIZHIX 20 2,260,000 1,366,000 894,000
= 1,099,000
o 1,161,000
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01 Al&HI 2,260,000 1,366,000 894,000
O4+2 A& &Hl 1,041,000
= 416,400
o 624,600
OXoli?Ie SMAIE FHl 894,000
s 367,600
s 536,400
OATAZ2AIE THAHOILAS (FRIF01) 325,000
& 325,000
otd&tel 5,690,000 7,364,200 1,674,200
= 37,000
= 3,330,100
[Ea 2,322,900
ot = Al 2 531,000 446,000 85,000
201 fet= 3| 11,000 6,000 5,000
01 AtR2tc|HI 5,000 0 5,000
ot I 5 82= X 5,000
02 35244l 6,000 6,000 0
OctEAIEE Sli=s & XHE=A2el 6,000
401 AlZHIZ SO 520,000 440,000 80,000
01 Al&H| 520,000 440,000 80,000
OdtdAEE B & |22 440,000
OXNotd N&=+== - M= MA At 40,000
OXlgotd 7Xl2el dAEHES 40,000
GHETHOH I AL (HEHALY ) 4,143,000 6,216,200 /2,073,200
< 2,900,100
T 1,242,900
401 AlEHIZL S0 4,143,000 6,216,200 /2,073,200
= 2,900,100
= 1,242,900
01 Al&H| 4,128,085 6,193,821 A2,065,736
OO0t THoH ol 2 AL 4,128,085
—MOIXIE X+ 2,434,205
=S 1,710,100
s 724,105
—0lgd X+ 1,693,880
< 1,190,000
s 503,880
03 Al 2 HYI 14,915 22,379 AT, 464
OO0t THoH ol 2 ALY 14,915
—MOIXIE X 2,443,000,000+0. 36% 8,795
—0l8& X+ 1,700,000, 000+0. 36% 6.120
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SIE MR 2= 960,000 658,000 302,000
= 430,000
= 530,000
101 @12A4H| 100,000 60,000 40,000
MU IIRINZZE2NSES 100,000 60,000 40,000
Ot Mg RN 2= 212Y 100,000
401 AlZHIZ SO 860,000 598,000 262,000
== 430,000
o 430,000
01 Al&HI 860,000 598,000 262,000
Otta MY 2=, 5ta =& 860,000
< 430,000
= 430,000
=Jtote |Al2el 46,000 34,000 12,000
= 37,000
Ea 9,000
201 er2 3| 9,000 9,000
01 AtR2te|HI 5,000 5,000
O=Jtotd ot&4 22 5,000
02 s3=gHl 4,000 4,000 0
O=Jlotd MEFAE+ Xtg2el 4,000
401 Al HIZL 201 37,000 25,000 12,000
= 37,000
01 A28l 37,000 25,000 12,000
O=Jtotd FXl2el 37,000
= 37,000
SENSFAILAE 10,000 10,000 0
401 AIEHIX R0 10,000 0 10,000
01 A28l 10,000 0 10,000
OR=MFJAIE H=FY 10,000
HRas(erdae|t) 200,000 257,000 A57,000
WA XIE 200,000 157,000 43,000
Mer2edls &= 200,000 157,000 43,000
(VAP TSE= 200,000 157,000 43,000
01 JIsdEsS 200,000 157,000 43,000
OMtt2eDI=sdEs 200,000
Y I PHl(erdae| ) 43,680 35,680 8,000
Jl=3H 43,680 36,680 8,000
etz ot Jl=& 43,680 36,680 8,000
201 er23| 18,360 18,360 0
01 At2tltl 18,360 18,360 0
OS A0t 14,688

- 531 -




orM 2te| 1t
dy2SAYI(ord 22 )
JI=3H T M)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=<tl SH0at 3,672
202 04l 20,520 12,520 8,000
01 =LHOHI 20,520 12,520 8,000
Os A&t 20,520
203 =4l 4,800 4,800
MU FA2SHI LI 4,800 4,800
ogtd2e| ) FMAEE 4,800
SAo 28X 2l 1,414,244 1,348,483 65,761
= 20,000
o 1,394,244
S 29 1,414,244 1,348,483 65,761
=S 20,000
s 1,394,244
CIVSE2 MU 2524 801,044 835,283 A34,239
201 et 3| 502,844 503,783 A939
01 At2t2l] 41,104 42,283 AT1,179
OSBRHHE SYSE 2
300,000 *120HE 3,600
Od=)| dEg 40,0002 12042 480
O3J1&83)| dgz 47,0002 12042 564
Odgat| o2l wat & A
500,000 <22 1,000
OSE2NHE HioleiA al 2 4,600
OSE2MHE ZEH| 28,860
—23Hl 60,0002 * 12 +365& 21,900
—=3H| 60,0002 x1H+116 6,960
OSE2NHE =8 S| 2,000
2 S5=24g4l 461,740 461,500 240
OSg2NHE HdS3H A=
96,8003 20000 A+ 1200 & 232,320
OSE2HHMH &I AIBE 47,040
— SN 1,500,000 =129 & 18,000
—CCTV 2g& A
11,0003 22000 2+ 1200 2 29,040
OCCTV & MMEE| |RX2= 182,380
—SE2NdEH 2 BEE CCV 122,380
—0ISYEE oCv(12 S¢)
5,000,000 1274 60,000
401 Al HIZL S 0HYI 200,000 193,300 6,700
01 Al&H| 200,000 193,300 6,700
OCCTV &1 & wHl 200,000
—ddEs OV 50,000
—0I=g8E TV 150,000
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405 AHaHE = 98,200 138,200 240,000
01 It =S F = 98,200 138,200 40,000
OSE2NHE nEst 98,200
—Xsg dE82H ALY &Y 68,200
—ZHAIAE 2ol A L
400,000& =754 30,000
2HE CCIVEXl M X 100,000 100,000 0
S 20,000
= 80,000
401 Al HIZL 201 100,000 100,000 0
= 20,000
[Ea 80,000
01 Al&H| 100,000 100,000 0
OY™E CCTVAXI(XI&) 100,000
S 20,000
o 80,000
OIS2SAIE 25 513,200 413,200 100,000
201 =3 13,200 13,200 0
2 S52g4l 13,200 13,200 0
Oltsgst)| Sae=2 7,200
Olt=gsdtl FAl2cl 6,000
401 A& HIX R0 500,000 400,000 100,000
01 AlZH| 500,000 400,000 100,000
Olts REYSAE 2= 500,000
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